THEESERIRESE

[ Fr 315 18 318 BE )
ITEX 17T B X 4 7 [ ATEX 1T B X 4 B e # | 1TEX ITB X 4 = i Ay
1RER 88 177 64 201 |'E 7 EF B 368 331 316 |BHAEEAN 662 1,309 362
( 0) | ( ( 1) (—TH) ( 3) | ( OSTH) 2) 4)
AL 438 845 353 202 |87 EFER 683 629 37| HAEEEL 547 1,065 304
C 3« () (ZTH) (3|« (ETH) 3) 4)
3|l H 85 174 65 203| &7 Ak 538 459 318|HAEE— 11 18 6
C 0]¢ 0 (ZTH) Q<) B¢ O\TH) 0) 0)
4T 383 818 364 204 | &7 FdbE 461 424 S19|BHEEEAN 295 592 178
(. 0o]¢ [G)) ("1 H) (G D¢ (LTH) 1) 3)
51—/ 54 102 30 211 |JETh i 408 344 321 | F— 403 810 222
(. 0o]¢ [G)) —TH (0] (—T A1~4% ) 1) 3)
6| /B4 79 161 50 212 |JETht: 226 200 322 |k — 266 517 153
C 0]¢ C 1 (ZTH) (0| (C T HAH) 4) 7
71=/84 171 349 156 213 |JEThit 266 213 323 |k — 691 1,360 417
(D]« (G D) (ZTH) (G D¢ (ZT H4H) 3) 5)
8|&EFAH 142 284 105 214 |JETh: 378 319 324 |\ R 414 824 314
(. 0o]¢ (G D) ("1 H) (0] (4T A 1~177H) 2) 4)
9|7 M 45 88 29 221|HFDOF—TH 562 441 325 | 652 1,270 414
C 0]¢ C 1 (0| (T B &) 0) 0)
10 ()5 58 107 36 222 |HIF DT H 669 515 326 |k HE— 380 710 213
( 0) | ( ( 0) ( 1) | ( ORT H1~173H) 2) 2)
11| K#E 36 76 28 223|HITDE=TH 804 621 327 |k HEE = 866 1,708 529
C 0]¢ o (2|« (BT B4 2) 5)
12|57 84 149 50 231|HEH—TH 614 481 328 |k HE = 236 a7 162
C 0]¢ C 1 (0] O\ T B4 2) 2)
13| K&, 39 83 24 232|HEH-TH 773 612 329 |k HE = 6 12 5
C 0]¢ o ( 3|« OuT B4 0) 0)
14| 674 70 136 42 233|HHFAH=TH 342 270 331 |k HE 27 29 29
(. 0]( (0 (0] (—T A5~8%Hh) 0) 0)
15 82 155 52 241 | H:ThHs— T H 490 327 334 |k HEE = 460 906 359
(. 0]( (0 (0]« (10T A 18~28%H) 5) 6)
16| VE Rk A 105 222 65 202\ /K6 — T H 800 443 336 | A H R — 444 872 275
(0 ]( [GN)) (2]« (ST H18~35%Hh) 3) 6)
20 [TE /KR 298 597 210 301 | AR — 415 373 401 | EREA—TH 903 1,751 540
( 0) | ( ( 0) (—TH) ( 1) | ( 3) 11)
101 | K1-& 337 713 294 302 | Ak A — 413 363 402| LR TH 0 0 0
(—TH) (D]« 1 (ZTH) (2|« 0) 0)
102 | K& 305 592 239 303 | HmksHa=TH 525 447 411 | KiEAKR—TH 737 1,466 431
(—TH) (. Dl () (D]« 1) 2)
11|k es—TH 860 1,721 705 304 | A H=— 1Y 161 162 2| KIEAKR-TH 397 785 240
(. 6)]( (10 (3|« 0) 1)
1120 —TH 498 974 413 31| BHAEBRE— 584 438
(3]« 3 (—TH) (0]
1217V —rrer 221 449 162 12| BHEBEE 426 313
. 0]( (G (ZTH) (0]
140 B0k 243 485 187 13| EHE = 624 424
(—TH) D]« C 2 (ZTH) (0]
141 |EBboR 43 101 43 14| EHRE = 200 160
(—TH) . 0]( C o (MTH) (3]«
142 | LBk 305 639 269 315\ EHBHEH 1,030 687
(ZTH) 3]« (10 (MTH,ATH) (2]«
) NIFSMEANEREHTHVAE, (H24. 750) 25907 A % 26708 A 52,615 A 19,184 tHE
MIZ)— e 1E, 0L — T BATEKICE EN5705, HRICEF L COET, 87.A) ( 108A) 195.4)
SR I, BT FATEXIC & A8, MBNCERTL TET, 25878 A 26691 A 52,569 A 19,147 1
290 %= 17X 46N 37 HE
1A) ( -1A) 0AN)




